SA-0259 (110-VOLT MACHINE)
SA-0291 (220-VOLT MACHINE)
DRIVE MOTOR ASSEMBLY

a 110-Volt Machine
220-Volt Machine

Appendix A: 294-005-021
HVO Summit S-Series Parts Revision D



SA-0259 (110-VOLT MACHINE)
SA-0291 (220-VOLT MACHINE)
DRIVE MOTOR ASSEMBLY

.~ PARTNO. | DESCRIPTION QTY
1 01-041 SET SCREW, 1/4-20 X 1/4 HEX SOCKET HEAD, CUP POINT 2
2 | 951-148-002 | LOCK WASHER, 1/4 SPLIT 4
3 01-065 FLAT WASHER, 5/16 USS 4
4 01-352 KEY, 3/16 X 3/16 X 1" 1
5 01-569 SCREW, 1/4-28 X 3/4 HEX HEAD 4
6a 02-770 MOTOR, DRIVE, 90 VDC 1
6b 02-786 MOTOR, DRIVE, 180 VDC 1
7 03-108 SPROCKET, #35 CHAIN, 22 TOOTH, 3/4 BORE 1
8 A-0855 CHAIN, #35, 17-5/8 LENGTH 1
9 SA-0257 DRIVE MOTOR BRACKET WELDMENT 1

Appendix A: 294-005-021

HVO Summit S-Series Parts Revision D




